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〜穴ピッチ測定〜
Distance between holes

〜溝幅の測定〜
Width of groove

〜歯車のオーバピン径測定〜
Overpin diameter of gear

〜アリ溝の測定〜
Dovetail

品質保証
体系・校正

穴の内径測定のほか幅広い応用性をもっています There are various applications other than measuring inner hole diameters. 

〜マイクロメータの校正〜
Calibrating micrometers

〜プラグゲージによる穴検査〜
Acceptance judgment

〜歯車の振れ測定〜
Deflection of gear

〜エンジン部品の検査〜
Inspection of engine parts

アイゼンでは1998年9月にISO9001
品質マネジメントシステムの認証を受け、
多数のお客様のご相談を受けるととも
に認証取得のお手伝いをさせていただ
いております。
ピンゲージの校正を希望される場合、
「どのように実施したらよいのか？」「ピ
ンゲージの管理方法は？」など、どのよ
うな事でもご相談ください。
他社製のピンゲージにつきましても検
査成績書、校正証明書の発行が可能です。
In September 1998, EISEN obtained the 
q ua l i t y  managemen t  sys tem I SO 9 0 01 
certification. Since then we have consulted 
with many customers to help them acquire 
this certification. If you would like to calibrate 
pin gauges, please feel free to consult with us 
about anything such as calibration instructions 
and pin gauge management. We can also issue 
inspection reports and calibration certificates 
for pin gauges made by our competitors.

〜穴の位置測定〜
〜 Hole Position Measurement 〜

〜歯車の歯みぞの振れの測定〜
〜 Gear Space Run Out Measurement 〜

〜傾斜角の測定（1）〜
〜 Angle of Inclination Measurement (1) 〜

〜傾斜角の測定（2）〜
〜 Angle of Inclination Measurement (2) 〜
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品物の穴にしっくりはまる直径 d1・d2 のピンゲージを差
し込めば、穴の位置（h1・h2）は、H1・H2 を測定すれば

Once the diameter d1・d2 pin gauges have been securely inserted into the 
holes of the item  being measured, the hole positions (h1・h2) can be 
obtained by measuring H1・H2 and  using the formulas

h1＝H1－ 2
d1

h2＝H2－2
d2

h1＝H1－ 2
d1

h2＝H2－ 2
d2

歯車の歯みぞにピンゲージを入れイン
ジケータにてピンゲージの歯みぞに
そった出入を全歯みぞについて測定
し、歯みぞの振れを求める。

Gear run out can be determined by placing a pin 
gauge into spaces between gears, and  then 
measuring gear space warps for all gears.

品物の穴にしっくりはまる直径 d1・d2・d3 のピンゲージを
差し込み、L1・L2 を測定すれば穴のピッチ（ℓ1・ℓ2）は

Once the diameter d1・d2・d3 pin gauges have been securely inserted into the 
holes of the  item being measured, the hole pitch (l1・l2) can be determined as 
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有効径 Eは
E＝M－3dm＋0.866025p により求められる。
（ただしメートル、ユニファイねじの場合）
Effective diameter E can be determined as E = M-3dm+0.866025p
(in the case of metric, unified threads)

サインバと直径 dなるピンゲージとにより傾斜角θは

The angle of inclination θ can be determined as 
after obtaining the sine bar and diameter d from the pin gauge. 

sinθ＝ ℓ
d

sinθ＝ ℓ
d

hを測定することにより円錐角θは

The cone angle θ can be determined as 
 after measuring h. 
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により求められる。
により求められる。

により求められる。

により求められる。
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により求められる。
により求められる。

により求められる。

により求められる。

〜穴のピッチ測定〜
〜 Hole Pitch Measurement 〜
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により求められる。
により求められる。

により求められる。

により求められる。

d1

d2

θ

h

ℓ

θ d

d

品物の穴にしっくりはまる直径 d1・d2 のピンゲージを差
し込めば、穴の位置（h1・h2）は、H1・H2 を測定すれば

Once the diameter d1・d2 pin gauges have been securely inserted into the 
holes of the item  being measured, the hole positions (h1・h2) can be 
obtained by measuring H1・H2 and  using the formulas

h1＝H1－ 2
d1

h2＝H2－2
d2

h1＝H1－ 2
d1

h2＝H2－ 2
d2

歯車の歯みぞにピンゲージを入れイン
ジケータにてピンゲージの歯みぞに
そった出入を全歯みぞについて測定
し、歯みぞの振れを求める。

Gear run out can be determined by placing a pin 
gauge into spaces between gears, and  then 
measuring gear space warps for all gears.

品物の穴にしっくりはまる直径 d1・d2・d3 のピンゲージを
差し込み、L1・L2 を測定すれば穴のピッチ（ℓ1・ℓ2）は

Once the diameter d1・d2・d3 pin gauges have been securely inserted into the 
holes of the  item being measured, the hole pitch (l1・l2) can be determined as 

ℓ1＝L1－
2

d1＋d2 ℓ2＝L2－ 2
d2＋d3

ℓ1＝L1－
2

d1＋d2
ℓ2＝L2－

2
d2＋d3

有効径 Eは
E＝M－3dm＋0.866025p により求められる。
（ただしメートル、ユニファイねじの場合）
Effective diameter E can be determined as E = M-3dm+0.866025p
(in the case of metric, unified threads)

サインバと直径 dなるピンゲージとにより傾斜角θは

The angle of inclination θ can be determined as 
after obtaining the sine bar and diameter d from the pin gauge. 

sinθ＝ ℓ
d

sinθ＝ ℓ
d

hを測定することにより円錐角θは

The cone angle θ can be determined as 
 after measuring h. 

sin　＝
｛ 2h－（d1－d2）｝

（d1－d2）
2
θ

sin 　＝
｛ 2h－（d1－d2）｝
（d1－d2）

2
θ

d2
H1

H2h2

h1

d1

d3 L2
ℓ2

d1 d2

L1
ℓ1

d

p
α

d

M

d

により求められる。
により求められる。

により求められる。

により求められる。

〜ねじの有効径測定（三針法）〜
〜 Thread Effective Diameter Measurement (3-pin method) 〜
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（拡大） (enlarged) （拡大） (enlarged)

Inspection report Calibration certificate Traceability system diagram


